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Y3 ¥ o9 4 YF3 (Y.H. 7 3 10 ) I3, 757 €9 I 18 YHS 3 Wd €7
J | R YHE 1S5 #egal Ieasy 637 fapn™ T |

Y3 T fed 4 YH3 (Y.H. 11 3 14) I3, 757 89 I 187 YHE 4 4
g J | B yHE o7 #egd] fasy 137 fam I | BH 45 feg €
YIS WRPAS wqT1I3 YHS & HTHS I& |

FBIBT & @97 & fogas 3T |

EAC

YHE HPHT 1 3 6 3 IT 18d YHE € 2 #d I |

(a) x & & IS d9 :

6){2—2)(+1 =0
6

oo
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2. fd39 1 @9, PQ "3 PR Y43 QuT Augw Ju=’ Js fagl o9
/QOP=70°3J | QPR & W& U3™ &9 | 2

fgs9 1

3. (a) A9 fed niqarfefsa S = ufags™ g 5, ng U€ 40 W3 Ufa®
n Ugh €7 13 180 d<, 3" n & H'& U™ d9 | 2
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(b) MWIIfel3d BFT =7 2027 Y€ UYIT I farA=T 727 UL, 112 y= 3
24 WZ J, W3 Ufgs™ yg 12 I | 2

4. foq S o o=ty a, = MOV D oog oqpfonr famr 3

J

6
for St © ufg® 35 ue fou | ot fog =3t g widarfefsa 53t J 2
e §733 § AURS JJ | 2

5. I35 foft wraet feg, feg wdls few wea € grdt =9 g bt &

fagdt =gnTdt ardt I -

AT T BY 1-3 | 3-5 | 5-7 | 7-9 | 9-11

g g HISH & . . 18 i 17

Sug fodt @3 €@ 9U8d =9ar & J&BT HIHT w3 WS (median)
=Ja1 < QUIST HIHT T 438 U3 99 | 2
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g% adt T |

4 HM. »9g form T &g 999 © 929 3 6 .ol Tt 3 AfE3 feg

f9g 3, AYgH Juer € A3 < 3967 JJ |
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AT Herdt Tt 18 "t St feqd 39 © gy feg fufonr famr
J (gestorr fapdr J) | 39 <t Ferdt U3 99 |
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2 AL w3 wg fonrm 4 At T 1 fom g T wifess u3r
9 |
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11. T3 Qg feg g 3 20 . Gt fasfsa © figg Gug &
SIHHAS T2 <€ J68 38 M3 fHYd © B9 d< IIH=T 45° W3
60° I& | T=9 < G u3T a9 |

12. (0 g 39 fa fan dag € ufgaz (9799 gI<l) AHTSI I393H

AHI3JgH Ja' J | 4

ey

b) 16939 2 feg, fea d99 ¢ ufgaz (¥99 godt) fegd 9399A
ABCD gt aret 7 | fHT &9 fd : AB + CD = AD + BC. 4

D
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13. e w3 (Hefmm) fog »rigr & J A8 7833 y=ows © et

YJ'E WTHH J4 7 I | wiATeg wa (fHEfm) =r 27 A ww ©
fefgam, wfgnzr, Aferag, dies B!, THZES W3 I& ©

AEISt Y&rs J9er J |
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gTd

71 &7 2 fog Ay & fea fonfes fos et feg gmedt »afeg wa

(THEfmn) = <a7 137 |

I foft gt €& © B9 war<t J
GHa (E few) | Ba & faeT]
103 wWe 3
203 W 10
303 We 22
403 wWe 40
50 3 We 54
603 W2 71

(@) wafeg wd (HGfmm) = <97 dds o8 & & Himd
(median) GHT U3™ 93 |
b) wATeg wg (THGfmm) = <97 996 @& 37 & HuHs
(mean)@)—l_dr 3T d9 |
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14. JHH, feg fars, 1500 =991 Hied ¥33e8 € WU w3 dg u3
TF o 99T J | for g3 < Sut fea fHdt &t (Sfoner)
Jde (faad) @ &% Afg3 I | 238 Sare & & 110 Hieg Sgdh
39 &t 8z It I, fog Hae I fa &t @ I (fasa), 43 ©
T3 BI'E of I I J |
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(a) % M3 Yy T U feg wifedag ¥3 T UfgHU 3 43des
&g |

(b) TfE3TEg 43 dhdt Zgvet, 93 ot Is 2
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